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Load Factor =(10x0.25)+(50x0.34)+(5%10)+(15x%0.1)+(10x0.14)+(5x0.85) =
Load Factor = 76.65 mA
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Load Factor =[(10x2.25)+(50%1.34)+(5x12)+(15x2.1)]x 0.2+[(10%8) +(5x4.85)]
+[(10%0.25)+(50%0.34)+(5x10)+(15%0.1)]x0.8+[(60x3)x0.2]=233.25 mA
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Cosd, =0.8

Cosd, = 0.96

Q=P(tag®; — tag®,)

Tr sl»=>P =400 kw

Q=400(tgd, — tgd,) = 400(0.75 — 0.291) = 0.459
Q=400x 0.459 = 183.6 kVAR

(1x25 kKVAR)+3(1x50kVAR)+8.6 kVAR

= BOKVAR _ 0.344 < 0.65
25KkVAR '

T2 sl = P = 200 kW
Q=200(tgd, — tgd,) = 200(0.75 — 0.291) = 91.8 KVAR
= 25 kVAR + 50 kVAR + 16.8 kVAR

16.8 kVAR 0.672 > 0.6 = 2(1 x 50 kVAR
5 ——— = U. .
25 KVAR > 0.6 =2(1x )
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Cosd, =0.8

Cosd, = 0.96

P=400+200=600kW= T, sl

Q=P(tg®, — tg®@;)

Q=600(0.75—-0.291) = 600 x 0.459 = 275.4 kVAR
(1X25 kKVAR)+5(1 X50 kVAR)— 2 s Lo 55l b

yiom0-KVAR— 1 5l sl Sl
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Q=P(tg®; — tg®,)

275=1200(0.75- tgd,)

0.75- tgd, = 0.2291 = tgd, = 0.5208 = Cosd, = 0.88

1250%0.88=1100 kW

1200-1100=100 kW
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Total Load MDP-A= 10 + 11 + 12+ 8 = 41 kW
MAXIMUM demand MDP-A= % = 37.27 kW
Total Load MDP-B=>4+3+12+ 2 =21kW
MAXIMUM demand MDP-B= % =175 kW
Total Load =37.27 + 17.5 = 54.77 kW
Demand Factor MDP:i = 0.55
54.77
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TR1=400 kVA , uk%=5%
TR2=800 kVA , uk%=6%
TR3=630 kVA , uk%=4%

400+800+630
Ueq=705 50030 — 4.93%

0.05 0.06 0.04

- 400 493 )
400=Sy, X 20018007630 < ARt S
= SL1 = 1856.1 kVA

_ 800 4.93 )
8OO—SL2 X m X T ego I 5
= SLz = 2228.41 kVA

_ 630 493 )
630=5y, x 20018001630 4 f= I

Si, = 1485.84 = coloasss owi 3 o)leds jgilejpandl 5
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Ueq=4.93% o
SLrni= 400 4.93
SLTRl 1483.3X—400+388+630 X = = 319.68

14 493
SLTRZ 83'3x—400+800+630 T = 533.30kVA

1 4.93

TR3 483'3x400+800+630 - 630kVA




